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COMPRIMENTO

TOTALUNIT

POS BIT QUANT

(cm) (cm)

(mm)

AÇO

P1 Lance 1

     50   1    10      6    298    1788

     50   2    10      6    140     840

     60   3     5     25    103    2575

     60   4     5     25     25     625

P2 Lance 1

     50   1    12.5     4    298    1192

     50   2    12.5     4    115     460

     60   3     5     25     83    2075

P3 Lance 1

     50   1    10      6    348    2088

     50   2    10      6    113     678

     60   3     5     26    103    2678

     60   4     5     26     25     650

P4 Lance 1

     50   1    10      2     75     150

     50   2    10      2    348     696

     50   3    10      2    349     698

     50   4    10      2    308     616

     50   5    10      6    140     840

     60   6     5     26    103    2678

     60   7     5     26     25     650

P5 Lance 1

     50   1    16      8    370    2960

     50   2    16      8    177    1416

     60   3     5     19    123    2337

     60   4     5     38     35    1330

P6 Lance 1

     50   1    10      4    348    1392

     50   2    10      4    140     560

     60   3     5     26     83    2158

P7 Lance 1

     50   1    10      6    386    2316

     50   2    10      6    113     678

     60   3     5     29    103    2987

     60   4     5     29     25     725

P8 Lance 1

     50   1    10      6    348    2088

     50   2    10      6    140     840

     60   3     5     26    103    2678

     60   4     5     26     25     650

P9 Lance 1

     50   1    10      6    348    2088

     50   2    10      6    140     840

     60   3     5     26    103    2678

     60   4     5     26     25     650

P10 Lance 1

     50   1    10      6    348    2088

     50   2    10      6    113     678

     60   3     5     26    103    2678

     60   4     5     26     25     650

P11 Lance 1

     50   1    10      6    348    2088

     50   2    10      6    140     840

     60   3     5     26    103    2678

     60   4     5     26     25     650

P12 Lance 1

     50   1    10      6    386    2316

     50   2    10      6    140     840

     60   3     5     29    123    3567

     60   4     5     29     25     725

P13 Lance 1

     50   1    12.5     6    395    2370

     50   2    12.5     6    125     750

     60   3     5     29    103    2987

     60   4     5     29     25     725

COMPR PESO

(mm) (m) (kg)

BIT

RESUMO AÇO CA  50-60

AÇO

     428      66    5       60 

     280     173   10       50 

      48      46   12.5     50 

      44      69   16       50 

Peso Total        60  =      66 kg

Peso Total        50  =     288 kg

1
4

40

9

35

28 N2 Ø 5 C=103

1
0

28 N3 Ø 5 C=25

6
 
N

1
 
Ø

 
1
0
 
C

=
3
2
8

6 N1 Ø 10

N
2
 
N

3

2
8
 
Ø

 
5
 
C

/
1
2

1

2

2
8
0

Mezanino (+3.100)

Respaldo (+5.900)

1:25

1
:
5
0

P3 Lance 2

1
4

40

9

35

24 N2 Ø 5 C=103

6
 
N

1
 
Ø

 
1
0
 
C

=
2
7
8

6 N1 Ø 10

N
2
 
N

3

2
4
 
Ø

 
5
 
C

/
1
2

1

2

2
3
0

Mezanino (+3.100)

Cobertura (+5.400)

1:25

1
:
5
0

P4 Lance 2

1
0

24 N3 Ø 5 C=25

2
4

40

1

9

35

17 N2 Ø 5 C=123

8
 
N

1
 
Ø

 
1
6
 
C

=
2
7
8

8 N1 Ø 16

N
2
 
2
X

N
3

1
7
 
Ø

 
5
 
C

/
1
7

1

2

2
8
0

Mezanino (+3.100)

Respaldo (+5.900)

1:25

1
:
5
0

P5 Lance 2

2
0

2x17 N3 Ø 5 C=35

1
4

30

9

25

24 N2 Ø 5 C=83

4
 
N

1
 
Ø

 
1
0
 
C

=
2
7
8

4 N1 Ø 10

N
2

2
4
 
Ø

 
5
 
C

/
1
2

1

2
2
8
0

Mezanino (+3.100)

Respaldo (+5.900)

1:25

1
:
5
0

P6 Lance 2

1
4

40

9

35

21 N2 Ø 5 C=103

1
0

21 N3 Ø 5 C=25

6
 
N

1
 
Ø

 
1
0
 
C

=
2
4
0

6 N1 Ø 10

2
4
2

N
2
 
N

3

2
1
 
Ø

 
5
 
C

/
1
2

1

2

2
8
0

Mezanino (+3.100)

Respaldo (+5.900)

1:25

1
:
5
0

P7 Lance 2

1
4

40

9

35

20 N2 Ø 5 C=103

6
 
N

1
 
Ø

 
1
0
 
C

=
2
2
7

6 N1 Ø 10

N
2
 
N

3

2
0
 
Ø

 
5
 
C

/
1
2

1

2

2
3
0

Mezanino (+3.100)

Cobertura (+5.400)

1:25

1
:
5
0

P8 Lance 2

1
0

20 N3 Ø 5 C=25

1
4

40

9

35

20 N2 Ø 5 C=103

6
 
N

1
 
Ø

 
1
0
 
C

=
2
2
7

6 N1 Ø 10

N
2
 
N

3

2
0
 
Ø

 
5
 
C

/
1
2

1

2

2
3
0

Mezanino (+3.100)

Cobertura (+5.400)

1:25

1
:
5
0

P9 Lance 2

1
0

20 N3 Ø 5 C=25

1
4

40

9

35

28 N2 Ø 5 C=103

6
 
N

1
 
Ø

 
1
0
 
C

=
3
2
8

6 N1 Ø 10

N
2
 
N

3

2
8
 
Ø

 
5
 
C

/
1
2

1

2

2
3
0

Mezanino (+3.100)

Cobertura (+5.400)

1:25

1
:
5
0

P10 Lance 2

1
0

28 N3 Ø 5 C=25

1
4

40

9

35

26 N2 Ø 5 C=103

6
 
N

1
 
Ø

 
1
0
 
C

=
3
1
0

6 N1 Ø 10

N
2
 
N

3

2
6
 
Ø

 
5
 
C

/
1
2

1

2

2
3
0

Mezanino (+3.100)

Cobertura (+5.400)

1:25

1
:
5
0

P11 Lance 2

1
0

26 N3 Ø 5 C=25

1
4

50

9

45

23 N2 Ø 5 C=123

6
 
N

1
 
Ø

 
1
0
 
C

=
2
7
0

6 N1 Ø 10

1
9
2

N
2
 
N

3

2
3
 
Ø

 
5
 
C

/
1
2

1

2

2
3
0

Mezanino (+3.100)

Cobertura (+5.400)

1:25

1
:
5
0

P12 Lance 2

1
0

23 N3 Ø 5 C=25

1
4

40

9

35

21 N2 Ø 5 C=103

6
 
N

1
 
Ø

 
1
2
.
5
 
C

=
2
4
0

6 N1 Ø 12.5

2
4
2

N
2
 
N

3

2
1
 
Ø

 
5
 
C

/
1
2

1

2

2
8
0

Mezanino (+3.100)

Respaldo (+5.900)

1:25

1
:
5
0

P13 Lance 2

1
0

21 N3 Ø 5 C=25

1
4

40

9

35

24 N3 Ø 5 C=103

1
0

24 N4 Ø 5 C=25

6
 
N

1
 
Ø

 
1
0
 
C

=
2
7
8

6 N1 Ø 10

15

9
5

6
 
N

2
 
Ø

 
1
0
 
C

=
1
1
0

N
3
 
N

4

2
4
 
Ø

 
5
 
C

/
1
2

1

2

2
8
0

Mezanino (+3.100)

Respaldo (+5.900)

1:25

1
:
5
0

P14 Lance 2

3
7
.
7

COMPRIMENTO

TOTALUNIT

POS BIT QUANT

(cm) (cm)

(mm)

AÇO

P3 Lance 2

     50   1    10      6    328    1968

     60   2     5     28    103    2884

     60   3     5     28     25     700

P4 Lance 2

     50   1    10      6    278    1668

     60   2     5     24    103    2472

     60   3     5     24     25     600

P5 Lance 2

     50   1    16      8    278    2224

     60   2     5     17    123    2091

     60   3     5     34     35    1190

P6 Lance 2

     50   1    10      4    278    1112

     60   2     5     24     83    1992

P7 Lance 2

     50   1    10      6    240    1440

     60   2     5     21    103    2163

     60   3     5     21     25     525

P8 Lance 2

     50   1    10      6    227    1362

     60   2     5     20    103    2060

     60   3     5     20     25     500

P9 Lance 2

     50   1    10      6    227    1362

     60   2     5     20    103    2060

     60   3     5     20     25     500

P10 Lance 2

     50   1    10      6    328    1968

     60   2     5     28    103    2884

     60   3     5     28     25     700

P11 Lance 2

     50   1    10      6    310    1860

     60   2     5     26    103    2678

     60   3     5     26     25     650

P12 Lance 2

     50   1    10      6    270    1620

     60   2     5     23    123    2829

     60   3     5     23     25     575

P13 Lance 2

     50   1    12.5     6    240    1440

     60   2     5     21    103    2163

     60   3     5     21     25     525

P14 Lance 2

     50   1    10      6    278    1668

     50   2    10      6    110     660

     60   3     5     24    103    2472

     60   4     5     24     25     600

COMPR PESO

(mm) (m) (kg)

BIT

RESUMO AÇO CA  50-60

AÇO

     358      55    5       60 

     167     103   10       50 

      14      14   12.5     50 

      22      35   16       50 

Peso Total        60  =      55 kg

Peso Total        50  =     152 kg
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